FRKE VS EORECEOBE R (TM6E4 A1 BIRAE)
TR RR (—)

sy | EFRAEEBBRECRE aaf MR Rl L O B
THRREL B AN | (%) B4 A | o | e | s
1. TEHOIEH FEE 1
14k |2. TEOBKE 17 156| = 16
£t 17 %
23 21.1 8
F& 6 4
2%k | EEHOBTS 6 551
Hi 6
1. FEDBTS FE 23
3k 2. BROB 34|  31.19|%E 11
£t 34 %
52 47.71 5
1. A#LEBREFTIRROBHE R#RE 0 &
4%k (2. BIBE D8 18 16.51|BIB = 18
Hi 18
1. FRWE. EBERRROBH FERWE 16 s
58 |2. BIRRDETE 19 1743|EFHRRE 2 £
19 17.43 7
BRE 1 &
&t 19 %
1. ZRR. EHEBROBH B3 12
2. BEDORE 15 13.76|EHBE 2 ECC
15 13.76 £
64k S5E 1 &
&t 15
& § 109 100




EMEUVESH LEOREZEOBE R (TH6F4A1BEA)
TRESRRRE R (2)

= ERAEEBBRICRE a&t 2E B £ oD BR B

%
TORRELGDIME (N | (%) B (N | A | e | B

1. BEXBF OB

- —HRIREER B DBTE
CBRAEFORBE A DB 0
- BB EEGRTF OB
- — R ERRER B DBTE

1%

a » O DN

1 BLOREREERENEET S
BETRTOME

o HYOKEX FERERELT D 0 0 L
AR B DT

pip |3 MUOBERISERELELT S 0
" REEAOHE

4. HEDOHKEEXTERELEELTD
BEEELRF OB

5 HICR#LEBFEITOABEFD
B

1. BEOHEXHERELELT S -

BEXRT OB ERRT

=111}

2. BEOBEXIRBRELELT D o -
— R AR B DTS Ak FeaeR 8

3 BEOHRERFERENELT S S
38 |7 REma 0B 3 100 |FER 3 3 B
4 BEORERLERELELT S .

A et ey e SLAS LSS

5 BELERENELS HABAS s
OBH RER

op
anh
—+
w

100




